A & 0l & AtES & Al

20239 % 20l4t JIEISE3IH A

A

A LIl B MU (ERZ T D)
Hu: =DOT X8 U 29
©2. s3HA SA2(sSXTREEAIE) (e
. . rou 1 = 0 .
SH - B S9(3H) - NRAY - BES S cR HIDS2
AR I Z MO EXE D) 6,106,173 5,352,734 753,439
s32HX 24 2 2Z 5,943,573 5,217,034 726,539
s3HX A (ssXRELAIL) 5,943,573 5,217,034 726,539
S2OX AEE P4 SX2(SEUREEAYS 497,820 108,700 389,120
EH3IH)
201 Let23d| 13,020 16,900 3,880
01 AtS2teltl 10,200 15,700 A5,500
S0j &t 10,200 15,700 25,500
O AESSS R IIAME L MD|CF
& & 100,000 = 12& 1,200
O=s3HX 21 =222 &
4,000& 7502 *3H A 9,000
02 2323l 2,820 1,200 1,620
S0 &t 2,820 1,200 1,620
OZUES=SEAl CCTV S4ldl & &I
(= 235,000 x12& 2,820
202 O4H| 1,200 1,200
01 =LHOH] 1,200 1,200
20 & 1,200 1,200
Os3HX X2 FA O]
20,000& x2H*303] 1,200
207 AR 32,000 10,000 22,000
01 A372E29d| 32,000 10,000 22,000
=0 A 32,000 10,000 22,000
OSBRI BRAIY 51 2o
10,000,000 * 101 2 10,000
Ot s3HX X EIEE AL 29
2,000,000& *1JH A 22,000
401 A& BIZL2CHYI 451,600 80,600 371,000
01 A&l 451,600 80,600 371,000
S0 &t 451,600 80,600 371,000
SESHA RAES
850,000& *304 A+ 12& 30,600
OYAESt=sSEA 222X FXNHA
50,000&*1,000m’ 50,000
QX ==3HA ==ty A A
371,000,000 1 A& 371,000
NEQHSXMEIE FA2A(SBANRELAIEELS 508,470 454,970 53,500
)
201 Ler23d| 93,270 125,770 A32,500
01 AtR22telt| 24,270 21,770 2,500
20 & 24,270 21,770 2,500
Oolge=&dl] 4,350
O =LH=XelE AMRES P
200,000& *53] 1,000
OX=LH=XelE E=D| Xz
31,9002 x12& 383




=N

x| Z M2 EXZ ML)

e
&2 s2HA SX22(s2XRE=HAIY) (Gt &
. . roy 1 0 A .
SA - EH - CR(B) - NRAY - BaS S cR RS2
OX=LH=XelE SIIFEI| Xz
38,9002 x12& 467
ORBY BF 242
1,100,000 *23] 2,200
osHEz =4 AATY
100,00024+3%+13] 300
Oleg+g] 18,000
OMSQHAHN YR4L
60,000 x81 4,860
OMSQHAHN SR
60,000 x219& 13,140
orsl] 1,920
OXM=QRH=Hed MNE S|
8,000 380 1,920
02 3323l 69,000 104,000 A35,000
=0 & 69,000 104,000 /35,000
Ol22322 ¢ MAl 24,000
O3 22ls, JIes, JIIAHEA
SHiea 1,250,002+ 122 15,000
OMSQH+X2IE BR0I#TLS
4,500,000& x23] 9,000
O[AA&&HIRXH] 45,000
OX=E3HA =HIAZZAXH S
22| 3,750,000& x12& 45,000
Ot =S=s3HA =HAZZAIMHA =X
=2 22| 2 0
202 04| 7,200 7,200
01 2| 7,200 7,200
S0/ & 7,200 7,200
O=sSEAl A=l X222 oyl
20,0003 x5 x723| 7,200
307 2IZt01A 300,000 240,000 60,000
05 QIteEr2 300,000 240,000 60,000
=0 A 300,000 240,000 60,000
ON=H =Xl & S
25,000,000 *12& 300,000
401 AIEBIZLL204H| 28,000 82,000 54,000
01 Al&H| 28,000 82,000 254,000
S0 A 28,000 82,000 54,000
ON=ELH Ml & 245 I|=& S|
23,000,000 *1J0 2 23,000
OX=LRH+XMeld HIIetEF AR |
5,000,000& 14 2 5,000
OM=ELH =Xl & Jl=&Ty| (=] 0
OXNELH+Held FUHHE AR
(=] 0
402 QIZ2tR=201 ™ 80,000 0 80,000
03 2IZHRIE A LI 80,000 0 80,000
=0 & 80,000 0 80,000




SN

I‘IiH:

Kl B A (EXH=ZH D

[ — =
SEHI =8 2 2

(o]

o

Eel: sZ2EX SN2 (s2RRELAIY) (& d
S - B S(B) - NIRAR - BHAS (ggj) @%%’Lﬁ‘” D=2
O2=ZMS TOC =& A=S=FD| 204 &X
80,000,000 = 1CH 80,000
OlHIB(sS2X R ZHAIHESHES|H) 4,937,283 4,653,364 283,919
801 old|dl 4,937,283 4,653,364 283,919
01 Btalbidl 4,937,283 4,653,364 283,919
S0 A 4,937,283 4,653,364 283,919
(@t:]1s]]s]] 4,937,283,000& x13] 4,937,283
SNMAFHAE XA 162,600 135,700 26,900
BEAFHT A XA (LEHAFHAT XA 162,600 135,700 26,900
SN AFHAAXSAIS 149,100 122,200 26,900
401 AlEHIZL L0 19,600 19,600 0
01 A&t 19,600 19,600 0
=0 A 19,600 19,600 0
OE&H O3l =8 A-IAIY
3,500,000 & #4 4 2~ 14,000
O234 O3l =8 A-IAY
2,800,000& #2H &~ 5,600
402 OIZERFE0| A 129,500 102,600 26,900
02 BIZIXIEAIH B (0™ THL) 129,500 102,600 26,900
=0 A 129,500 102,600 26,900
Ogets Oisda 2372 ¢ 0 A
12 AEZ2 HE* 1 , 000 *25 0 2~ 35,100
Odsg 032 2372 ¢ 02 &
12 AEZ2 HES 1,764, 150& *5304 A~ 93,500
Ostalel OIS 2ERY U OIS £
"2 AMEZ HES 900,000 *1JH 2~ 200
SMAFHIYE ASSUH 11,000 11,000 0
307 2Iz2tol™ 11,000 11,000 0
02 QIZIEAAIE T 11,000 11,000 0
S0 A 11,000 11,000 0
O23d odge|, dael I18dHlg 1Y
11,0002 x1,000% 11,000
OlHIH(EEATHIAXAALS EESIH) 2,500 2,500 0
801 aidlbl 2,500 2,500 0
SHOIHI B 2,500 2,500 0
Eoﬂﬁ 2,500 2,500 0
[@]4:{1s]]s]] 2,500,000& *13] 2,500




A FOISXI D
Hu: MAS

=

=)
ot P = o oAl ;E; ot =] oo
el A=RSIIS2EXE(SLEIA)(A=200I22F)

(ol @
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
F=01=X1 1,416,026 1,657,058 N241,032
= 98,225
& 18,708
= 1,299,093
NASS MEXa 2l 1,416,026 1,657,058 A241,032
= 98,225
& 18,708
= 1,299,093
SI2S0IIS2EXNH(EEIH) (A2 SHII=2Y) 753,786 1,028,470 N274,684
= 98,225
== 18,708
= 636,853
=22 ¥ =208E sz2 89,385 83,260 6,125
= 71,508
& 12,513
= 5,364
307 2120l ™ 89,385 83,260 6,125
= 71,508
== 12,513
= 5,364
01 922 32=H| 89,385 83,260 6,125
= 71,508
& 12,513
= 5,364
=0 A 89,385 83,260 6,125
= 71,508
& 12,513
= 5,364
OUEs 2 =oeg 833
177,000& *505H 89,385
= 71,508
& 12,513
= 5,364
oI AR 20| 12,125 41,010 N28,885
= 9,700
== 1,940
= 485
307 QI2H0| & 12,125 41,010 A28,885
== 9,700
o= 1,940
= 485
01 o222 =H| 12,125 41,010 A28,885
== 9,700




=N

ME: HASS MK
o 23022 XN (SEIAH) (AZ220I122Y) (e
SH - B S9(3H) - NRAY - BES S SR HIDS2
= 1,940
= 485
20 & 12,125 41,010 A28,885
= 9,700
& 1,940
= 485
O&OHeIEE T S0{d! 242 5003 *50H 12,125
= 9,700
& 1,940
o 485
Q2= HAIY HEFHI 21,272 18,547 2,725
= 17,017
& 4,255
201 L8| 17,312 14,947 2,365
= 13,849
& 3,463
01 AtR22teltl 17,312 14,947 2,365
= 13,849
= 3,463
20 & 17,312 14,947 2,365
= 13,849
& 3,463
O2230HAIY LBH23FH|
7,832,000 %13 7,832
= 6,265
& 1,567
Odz=0AY S22 A
12,0002 *7500H4 9,000
= 7,200
& 1,800
Oodzs=0aRIR3 =5
80,0003 x3H »23| 480
= 384
& %6
202 O4H| 3,960 3,600 360
= 3,168
& 792
01 2] 3,9%0 3,600 360
= 3,168
& 792
20i & 3,90 3,600 360
= 3,168
& 792
O22=2¢HAIE =U0YI
20,0003 *35 663 3,9%0




=N

HH: HASE MBI
S I 220II22N(SLEIAH) (230 II22Y) (& d
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
= 3,168
o= 792
230 i=Hl ZHIEEZ 601,248 794,918 A 193,670
308 AXISHHISO0IA 601,248 794,918 N 193,670
07 AXISHHZ2REZS 601,248 794,918 AN 193,670
=0 A 601,248 794,918 N 193,670
Ool220 A ZH| 2HIRE=2
291,7263%2,061H 601,248
(0:]1s]}s]] 29,756 32,945 N3, 189
801 Giblbl 29,756 32,945 3,189
01 LEHIHIbH] 29,756 32,945 A3,189
=0l A 29,756 32,945 3,189
[@]4:{1s]]s]] 29,756,000 *13] 29,756
HASFTDIMEOIY(SY ) (HASFOUMEOINI|Z) 662,240 628,588 33,652
NASS FOIMEOHY K& 154,000 154,000 0
201 LB AH| 2,400 2,400 0
2 3324l 2,400 0 2,400
=0 A 2,400 0 2,400
OMERIN)|IZ2 T2 SAES
2,400,000&*13] 2,400
202 04| 1,600 1,600
01 Z2LHAH Y] 1,600 1,600
S0 A 1,600 1,600
OMEI™) |2 22X 04|
20,0002 x2H x403| 1,600
01 X2 150,000 150,000
01 2IZ2tE X2 150,000 150,000
=0 A 150,000 150,000
(OF =S I =IN =
10,000,000 15 150,000
OHIBI (M ASZ0IMEOLN SHG|H|) 508,240 474,588 33,652
801 oid|dl 508,240 474,588 33,652
01 LBHHIHIbB] 508,240 474,588 33,652
=0 A 508,240 474,588 33,652
(@t:]1s]]s]] 508,240,000& *13] 508,240
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oF
ol

(e} (@) Q o o o o (@) (e) («) o o o
N 2 2 S s |8 8
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5 |
Kl
E
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i R0
LT
ol
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= = ok o = g
E=] . ur o K
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e = Io- — & D oK =< o
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A SFI|FI(EZEEE)
Bu: SEBADH
Chel: SEIHLASES A (SEMA) (e
S - B S2(B) - NISAY - BAS S SR HIDS2
OF0IXEAIY =GO FAX} AHIS A
8,000 40 H *43] 1,280
| 1,280
FOIXIAALS 351,172 339,352 11,820
J| 351,172
307 @I2+0| ™ 126,140 124,300 1,840
| 126,140
02 RIZHEAAIEE S 126,140 124,300 1,840
| 126,140
201 & 126,140 124,300 1,840
| 126,140
OF AN AL (HEXIH)
1,190,000 =106 Al CH 126,140
| 126,140
402 QI2FRH=01H 225,032 215,052 9,980
| 225,032
02 DIZENEAIE B X (01 & AA) 225,032 215,052 9,980
J| 225,032
201 & 225,032 215,052 9,930
J| 225,032
OFAUX AL (2HEXIH)
22,503,200 *102] 225,032
| 225,032
a2 XS 22 17,000 16,000 1,000
| 17,000
201 Le2IH| 14,280 13,280 1,000
| 14,280
01 AtS2teltl 10,560 7,560 3,000
| 10,560
S0i & 10,560 7,560 3,000
| 10,560
Olet=&4l] 10,000
O=HRA HURFLX =ZH|
333,333 * 1201 & 4,000
| 4,000
O3y Ay YHEE 2
3,000,000 *13] 3,000
| 3,000
ootEXE & &x & B
600,000 & #5712 3,000
J| 3,000
Ol=4l] 560
o4 2| NG ae| S|
8,0002 x1Hx70 560
| 560
02 S=23l 3,720 5,720 A2,000




2N SHIISIHESHENY)
B LEsADH
Ol SEINESH (SBN) (e e
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
J| 3,720
=0l A 3,720 5,720 A2,000
J| 3,720
O[ Xt - detd]] 3,720
O£=HRA 22| Xtz SXIH]
310,000 12012 3,720
J| 3,720
202 04| 2,720 2,720 0
J| 2,720
01 2yl 2,720 2,720 0
J| 2,720
=20 A 2,720 2,720 0
J| 2,720
OF=HIAA =Z0{| 20,0003 »2H 68! 2,720
J| 2,720
QA=A IHIE XS 51,000 43,080 2,920
J| 51,000
207 AP IR 51,000 438,080 2,920
J| 51,000
01 H32ES <l 51,000 438,080 2,920
J| 51,000
S0 A 51,000 48,080 2,920
J| 51,000
OLEEZFZZ| AIBHE 01T I}
46,000,000& 13| 46,000
J| 46,000
OeaEsatae| AZAIE 2LIEE
5,000,000&*13| 5,000
J| 5,000
odlg18l 1,800 1,000 800
801 Oil|H| 1,800 1,000 800
01 Btalbidl 1,800 1,000 800
S0 A 1,800 1,000 800
(@t:]1s]1]s]] 1,800,000& 13| 1,800
Y SAAH|(EHI|I=D 80,200 75,000 5,200
J| 71,950
= 8,250
QIHASHY| (LA IMHELS|H) (=EIHA) 80,200 75,000 5,200
J| 71,950
= 8,250
2| ™Y ClEAT|KAH|(FRIXRAIY EIF L DBAIH) 40,200 33,000 7,200
J| 31,950
= 8,250
101 o1AH| 40,200 33,000 7,200
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oF
ol

R0 RO Ar

7,200

7,200

/2,000

2,000

/2,000

2,000

& T 0f AHY
(15 )

33,000

33,000

42,000

42,000

42,000

42,000

Ofl oK
(BHH)

J|

31,950

H

8,250
40,200
31,950

Il

8,250
40,200
31,950

H

J|

8,250

H

40,200
31,950

Il

H

8,250
40,000
40,000
40,000
40,000
40,000
40,000
40,000
40,000

Il

J|

Il

Il

40,000
40,000

J|

P E

- SRI(3) - HEAY

L

S A

-

el

il

*1Ex 128

b

101 Q14|

-

ed

I

*1Ex 128
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=N

X ZH -
o=

SAICI K DH(E AIDHEE D)

SADHE

Ciel: &DI0IEE SEEH(RII01E) (e e
S - BB BR(31) - NSAY - BES S SR b=
SAICIRFI B S AIDHE 1) 2,309,267 3,387,979 A988,712
SAIDHE 394,026 387,085 6,941
A0S SLEIIAH(RII0IEEH) 372,137 365,593 6,544
1018 SAIHEAIERX = 100,000 300,000 A200,000
401 AIEHIL 20| 100,000 300,000 A200,000
01 Al&H| 100,000 300,000 A200,000
=04 100,000 300,000 A200,000
O[EXIoHHI] 100,000
OZJIDIEH TAIHEALRX OH==E
- 24| 100,000,000 *1JH A 100,000
(G:{]s])s] 272,137 65,593 206,544
801 ollglyl 272,137 65,593 206,544
01 BHalblbl 272,137 65,593 206,544
=0 A 272,137 65,593 206,544
@]4; Is]}s]l 272,137,000& *13] 272,137
JIBIAIERE3 SEIAH(JIBAIE) 21,889 21,492 397
(Glls1)s] 21,889 21,492 397
801 O4lHlbl 21,889 21,492 397
01 LBHaiblyl 21,889 21,492 397
20 & 21,889 21,492 397
(@] {1s11s]] 21,889,000& *13] 21,889
FAHEEINH 2,005,241 3,000,894 A995,653
FEHAIY SYSIAH(FEHAIY) 2,005,241 3,000,894 A995,653
=201 - 2T X2 3l 1,000 1,000 0
201 et23AH| 1,000 1,000 0
01 AtS2teltl 1,000 1,000 0
S0j &t 1,000 1,000 0
Ol[et=+=&Hl] 1,000
oZ2MEH oKl S| ===
100,000& =104 1,000
S0 EXSHEAIS 29,000 36,000 27,000
201 Bt Y| 2,000 2,000 0
01 At222teltl 2,000 2,000 0
=0 A 2,000 2,000 0
O[det+=&Hl] 2,000
OLH =28 ZHZellH 228 2
500,000& *43] 2,000
202 04| 4,000 4,000
01 2LH4H] 4,000 4,000
=0 A 4,000 4,000
OAHZHE AMT= L G223 HEA
ol Ag 200,0002x20H *13] 4,000
402 QI2ERFE0IN™ 15,000 30,000 A 15,000
01 QIZEXEAIS B X (KM 15,000 30,000 A 15,000

_11_




SA: ZAICIRQIDHEAIDHE D)
= Tois2)
Cigl: ZEIAIY SHE|H (FUAR) (e e
SH - B S9(3H) - NRAY - BES S SR HIDS2
S0 & 15,000 30,000 A15,000
O=dI0IE =8 XISHHMKI
3,000,000 *5= 15,000
405 RHaHESH| 8,000 8,000
01 ML 2EFH S| 8,000 8,000
S04 & 8,000 8,000
OAZHE H2REX FU=AD| 7Y
8,000,000& =1CH 8,000
FEIALY Ollglbl 1,975,241 2,963,894 A983,653
801 OilHldl 1,975,241 2,963,894 A988,653
01 BHoilbl bl 1,975,241 2,963,894 983,653
=0 A 1,975,241 2,963,894 A988,653
Oullglsl 1,975,241,000& 18] 1,975,241
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